gooooilicooooonon gooooog

UOUOooooooood 00O OO (NO].)

O O o oo

n+1 =an + f(n)O1

11000 {a,} O a1 =0, napy1=m+1D%a,+2n+1 (n=1,2,3,--")
ooooboooboooa

0@ o0 {b} O bn:%(n:1,2,3,~-~)DDDDDDDDDDDDDD
ooo o, b+ OOODOODOOOOODOODOO

0(2) a, 0 n 0000

1 1 1
12000 {a,} 0 a3 = —, — — — 6(n2 —93...
{0} 0 ar=g5. ———— =60 +n) (=23

oboooboooooogoo

0(1)00 {a,} 0000 a, 0 n 000000
0(@2) e 00000

n=1

1.30 a1 =0, ag=—-1, ant2 —2ap4+1 +a, =2"
O000ooooooo {e,y DOOO
O0(1)o0ooo e, OOOOO

00 e 000000000 n0O e 0000000



